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2y 111% (-0.6bp)

S5y  183% (-1.2bp)

10y 2.39% (-0.5bp)

30y 3.08% (+1.5bp)
[7|Et 10YZ]

S 141% (+1.3bp)
=9 0.37% (+4.0bp)
ZZA 0.80% (+14bp)
O|Etz|of  1.94% (-4.1bp)
AHQ  149% (-6.1bp)
a2|A  661% (+19.7bp)
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DOW30 19251.78 (+0.18%)
NASDAQ 5233.00 (+0.45%)
S&P500 221223 (+0.34%)

NIKKEI225  18360.54 (+0.47%)
SHANGHAI 3199.65 (-0.16%)

FTSE100 6779.84 (+0.49%)
DAX30 1077532 (+0.85%)
CAC40 4631.94 (+1.26%)
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o=z/28  1.0721 (-0.0039)
S/ 12225 (-0.17)
EIAL 114.02 (+0.27)
SHa{/9ot  6.8575 (-0.0295)
o /sty 1.2674 (-0.0053)

NDF 1171.20 / 1171.70¥.. 2%}
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WTI 50.93 (-1.7%)
COMEXg@ 117010 (-0.5%)

5. 1E =W X&

[ATO 1989.86 (+1.35%)
AAE} 581.35 (+1.08%)
|l/E 1171.40 (-3.20)
KTB 109.24 (-0.06)
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LKTB 124.80 (-0.29)
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CD(O1d) 1.5400% ( 0.00bp)

[= 1LXH]

ly 1.5950% (+1.00bp)

3y 1.7370% (+1.70bp)

Sy 1.9300% (+1.50bp)

10y  2.2000% (+1.80bp)

20y 2.2000% (+1.30bp)

30y  2.1920% (+0.70bp)

50y  2.1870% (+0.70bp)

[S2txH]

1y 1.5940% (+1.10bp)

2y 1.7200% (+1.80bp)

7. BE A Ampc

1Y -8.15bp  (-0.60bp)

2y -17.00bp  (-0.55bp)

3y -14.20bp  (-0.20bp)

5Y -2450bp  (+0.50bp)

10Y  -35.50bp  (+0.70bp)
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1Y 1.5125% (+0.50bp)
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2Y 1.5500% (+1.25bp)
3y 1.5950% (+1.50bp)
5Y 1.6850% (+2.00bp)
7Y 1.7475% (+2.00bp)

10v 1.8450% (+2.50bp)

12Y 375 (+0.75bp
273Y 450 (+0.25bp
2*5Y 1350 (+0.75bp
3*5Y 900 (+0.50bp
5*7Y 625  (0.00bp)
5+10Y 1600  (+0.50bp)

)
)
)
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*CRS 22|
1Y 1.0550% (+3.50bp)
2y 1.1400% (+4.50bp)
3y 1.2100% (+6.00bp)
5Y 1.2600% (+6.00bp)
7Y 1.2700% (+6.00bp)

)

10Y 1.2600% (+5.50bp
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